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Reg.No. :

Name : .............

Second Semester M.Com.

K24P 1122

- O.B.E. - Begular)

(2023 Admission)
CMCOM O2CO7 - ADVANCED COST AND MANAGEMENT ACCOUNTING

Time : 3 Hours Max. Marks : 60

SECTION - A

Answer any five questions in this Section. Each question carries 3 marks.

1. Define "process costing". Statg'its features.

2. What is a "cash budget" ? List out its advantages.

3. Calculate the sales value required to earn a profit of t 90,000 under the following

circumstances:

Sales { 6,00,000

Variable cost { 4,20,000

Fixed cost T 1,20,000

4. How does marginal eosting differ from absorption costing ?

5. Mention the key differences between joint product and by product.

6. Product A requires 10 kg of material,at the rate of t 4 per kg. The actuat

consumption of material for the manufacturing of Product A came lo 12 kg of
material at the rate of T 4.50 per kg. Calculate the material cost variance.

(5x3=15)

SECTION - B

Answer any three questions in this Section. Each question carries 5 marks. ,

7. Define "standard costing." State its features and advantages.

8. How do normal losses differ from abnormal losses in process costing ?

9. Summarise the steps involved in buCgeting and budgetary control.
P.T.O.



R24P 1122

rffillfiffin$nffimffiffiffitHll$

l4.DistinguishbetweenTraditionalBudgetingandZero.BasedBudgeting(zBB).
Enumerate th; ;;rits and demerits of ZBB'

15. The following is the information collected from the cost records of a company :

Selling Price Per unit (t)

Variable cost Per unit (t)

Fixed cost (t)

OutPut

Calculate :

i) PA/ ratio

ii) Present Protit

20

15

4,000

2,000 units

iii) Profit when output is 2'500 'unitS " '

iv) No. of units to be sotaito obtain a profit of { 10'000'

l6.Prepareastatementofequivalentprodugtiol,statementofcostandprocess
accou nt r,#il;' i;i ro*i nsi i rr; #;ti;; i}il'iit averase costin g method'

OPening stock 5p'006runits ii

Labour { 1'0,000 ,r,
't"'

Overheads < 25io?0,-,-- 
,,,.-

Units introduced ' .. . 20,00i000.Units

Wages t 75'000

Overheads t 70'000

During the period 1,50,000 units Were completed and transferred to Process ll.

Closing stock 1,00'000 units'

Degree of comPletion :

a) Material - 100 "/o; b) Labour - 50% and c) Overheads - 40 %' (3x10=30)
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14. Distinguish between Traditional Budgeting and Zero-Based Budgeting (ZBB)'

Enumerat" in-" *"tits and demerits oIZBB'

15. The fo*owing is the information co*ected from the cost records of a company :

ii) PresentProfit ,-..--'"' : :,,

iii)Profitwhenoutputis2,500unitS......
iv) No. of units to be sold to obtain a protit of { 10'000'

l6.Prepareastatementofequivabntp.roducjiol.]statementofcostandprocess
account f,#il; i;iil*ind i"f;;;ffi;;;; tiii averase costins method'

Material '1rr,rgg 
l$;000 : i'i,-;'. 'r'

Overheads t 2$000 
'

Selling Price Per unit (t)

Variable cost Per unit (t)

Fixed cost (t)

OutPut

Calculate:

i) PA/ ratio

Units introducgd

Materials

Wages

20

15

4,000

2,000 units

20,00;00O units

t 75,000

Overheads { 70'000

During the period 1,50,000 units were completed and transferred to Process ll.

Closing stock 1,00,000 units'

Degree of completion : 
rno, an.r a\ r b. (sxro=go)

a) Material - 100 %; b) Labour - 50% and c) Overheads - 40 oz


